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And he explains 72157 immediately — n5RY 70107 WADRY

OVERVIEW

"WX 27 explained that there is (Y72 '7 17w '21 @°192) '7 17w '2 because the mwn
includes mo1d7 since we find elsewhere (regarding the m>x5» Max) that the
X1n refers to 70107 as XX, X127 added that we know from our mawn that the
X1n refers to 17101077 as XX since after stating 131 nAws MXX he immediately
explains the case of 7101571, Our NMPOIN explains why X1°27 could not have
provided a different proof that our Xin refers to 110137 as 7RXI.

mooin asks:
—1M0357 XYA NINA 79 D392 YAINR NNIYN NIT NN P27 NY INIPN) 9NN ON)

And if you will say; and why did not X127 infer that our °»1 701577 Rin
177 >7p 18317, from the fact that without n191277 there can be no 29122 YaR
and Y72 Y298 in our mwn! This proves that 7% 3P IR "1 70137 RIN.

nB0IN answers:
— 29597 S NYI97I 1N HNIWYNT 91217 W

And one can say; that it is possible to have 2°192 '7 7% '2 and 772 without
including mo137, as I explained previously.

moon offers another answer:
— NP7 9193 PH%NN 919910 729Y 7N KD NNNINT ) ON

Or you may also say; that from this proof from our 7wn it is not

applicable to state, ‘this can also be inferred from our mwn’ -
— 19Y NPT MIMAYT NONNN NN INNDT

For why is the proof from our 71wn any stronger than from that 712% in
maw noon which we are discussing® —

! See “Thinking it over’.

2 Xy XM "7 'ona.

3 mooin explained previously (MR XM 71"72) that the s'RM3 question *1NP MRX°Y’ XM is on the 7awn in Mynw
(not [necessarily] on our 71wn). WX 21 answered that 7% > 787 *11 7031377 RIn, and proved it from the mawn
in 773 993, Seemingly he could have proved it from that 7iw» in nwaw, for otherwise (if 70157 is not
included in 7%%17) how can there be 8217 '7 17w o°nw if we do not include 701377 (the same proof that nooIN
is asking that we can bring from our 712wn). Obviously since *wx 21 did not bring any proof from the mwn in
myaw, this proves that *w& 11 did not consider this sufficient proof. For this very same reason &1°27 did not
consider using this same proof from our 7wn. The w"&"7 MDD explains that this is not a sufficient proof,
for we can maintain that 7101277 is not called X%, and nevertheless the mwn in MWW states NAWH NIRYS

1

TosfosInEnglish.com



wIonPY 7"'7 '3 2,2 2w L7023

19953 MDI9N 2IYNN 19 ON NIN NAPND 1D NNOYN KD ') DNNT
For there too we cannot find the entire ¥y27X 172 to be X211 191> unless

we include the M®1577. Therefore it is inappropriate to claim that Xp>7 "1 "1n» based
merely on the fact that if 710137 is not 7R¥17 9752 then there cannot be 121 '7 17w '2.

SUMMARY

One cannot infer that 7% »p 18X °»1 70197 for otherwise there is no 17w "2
Y721 0°192, either because there can be 21 '7 17w '2; or that our 7w» is no
more proof than the 71wn in Myaw.

THINKING IT OVER

nooIn asks that seemingly we can infer that 7% *9p ARx7 °n1 70137 from the
fact that there can be no yI1721 2°192 '7 17w '2 unless we include 7701377.* What
is the advantage of using this inference over the inference which X127
actually uses?!

onw (which refers to X¥17) and then adds ¥a7X 17w which is 710137; just as the mwn there states My
2w AR (which refers to IRM™W 22vm NY°7°) and then Y278 37w (which is YWY wIpn 07vm ny°7°); the 1w
¥27X do not have to be the same category as the o°nw. In contrast the proof from our mwn is more
convincing, for if 701377 is not ARX1T 9732 why would the mwn expound on 701577 before nx¥1! [Alternately
it is unusual for the X3 to ask a question (°1np MX°¥> XM) implying an assumption that 70157 is not 9933
7Rx7 and then answer, since we have no other answer this must prove that our initial assumption is wrong
and 710137 is IRWIT Y902, It is necessary to prove the new assumption from elsewhere. Therefore just as it is
inappropriate to prove anything from the mwn in n¥aw (that “'51 nnown R9) it is equally inappropriate to
prove anything from our 73wn in the same manner, for 121 R12IX "R, ]

4 See footnote # 1.
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